NAME________________________________________ DATE ____________________ PERIOD ___________
For beakers 1-9:

A. Draw a solid arrow to show which way the water would move by osmosis.
B. Draw a dashed arrow to show which way the solute would move by diffusion.

C. Name the type of solution (hypertonic, isotonic, hypotonic).
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Cell: Hypotonic
Beaker: Hypertonic
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A. Draw an arrow to show which way the water would move by osmosis.
B. Fill in the missing percentage amounts for the solute or water
C. Name the type of solution (hypertonic, isotonic, hypotonic).
D. NOTE: The solute is unable to move, indicate what would happen to the cell as a result of osmosis (swell, shrink, or remain the same
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	{SAMPLE}

Cell: Hypotonic
Beaker: Hypertonic
Part D: The cell will shrink
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